Piara Waters Senior High School Image: Senior High School</t

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 29th December 2023.

Orders placed after Friday 29th December will incur no late fee. However, please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Your Campion Store 25B BAILE ROAD CANNING VALE WA 6155 Contact Us 08 6240 2778 salesperth@campion.com.au

Please tick the items required in the box provided \downarrow

Office Use	Description	Item Item Qty No. Regd Regd	Unit Price \$	Total Amount \$
01100 000	Bessiiplien			7 ano ant o

YEAR SEVEN

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded, or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return date some items may go to backorder and need to be reordered from the supplier.

	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	1		1	41.95	41.95
P55343	Compass Micador Self-Centering 140mm Safety #325	2		1	1.25	1.25
P55495	Document Wallet FC Slimpick Orange	3		1	1.10	1.10
P51941	Graph Book A4 96 page 10mm Grid Squares	4		4	2.10	8.40
P56353	Protractor 10 cm 180 4" Half Circle	5		1	0.45	0.45
	OPTIONAL BUT HIGHLY RECOMMENDED		_			
F62706	Piara Waters SHS Digital Pearson Maths 7 2E (Access Code)	6		1	27.00	27.00
	Payment to be made to Campion Education. Access will be provided	d in class				
	ENGLISH					
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	7		1	2.15	2.15
P50371	Display Book A4 20 Pocket Cool Frost Blue Refillable	8		1	2.15	2.15
	SCIENCE					
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	9		2	2.15	4.30
P50372	Display Book A4 20 Pocket Cool Frost Green Refillable	10		1	2.15	2.15
P55494	Document Wallet FC Slimpick Green	11		1	1.10	1.10
P56428	Safety Glasses Clear Wrap Around	12		1	6.45	6.45
	OPTIONAL BUT HIGHLY RECOMMENDED					
F62707	Piara Waters SHS Digital Pearson Science 7 2E (Access Code)	13		1	27.00	27.00
	Payment to be made to Campion Education. Access will be provided	d in class				
	HUMANITIES AND SOCIAL SCIENCES					
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	14		2	2.15	4.30
P50372	Display Book A4 20 Pocket Cool Frost Green Refillable	15		1	2.15	2.15
	OPTIONAL BUT HIGHLY RECOMMENDED					
F62709	Piara Waters SHS Digital Pearson WA HASS 7 (Access Code)	16		1	27.00	27.00
	Payment to be made to Campion Education. Access will be provided	d in class				
	TECHNOLOGIES: FOOD SPECIALISATIONS					
	Reusable food container 700mL to 1000mL. (To take prepared food home)					
	TECHNOLOGIES: DIGITAL TECHNOLOGIES					
P50371	Display Book A4 20 Pocket Cool Frost Blue Refillable	17		1	2.15	2.15
P55481	Document Wallet FC Polydoc Blue	18		1	2.50	2.50
	HEALTH AND PHYSICAL EDUCATION PWSHS sports polo shirt, shorts/track pants and hat (available from	Uniform Co	ncepts)			
	Sunscreen SPF50	(ar)				
P55495	(Any brand. Travel size. To be replenished throughout the school ye Document Wallet FC Slimpick Orange	e ar) 19		1	1.10	1.10
	THE ARTS: PERFORMING ARTS		_			
P54146	Exercise Book 225x175mm 128 Page 8mm Spirax	20		1	1.50	1.50
		20		i	1.00	1.00

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	⊡ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$		
	THE ARTS: VISUAL ARTS							
P50373	Display Book A4 20 Pocket Cool Frost Orange Refillable	21		1	2.15	2.15		
P58510	Eraser Plastic Pencil Large With Sleeve	22		1	0.40	0.40		
P52001	Pencil (2B) Goldfaber	23		4	0.65	2.60		
P56477	Sketch Book A4 20 leaf Perf Board Cover Spirax #534	24		1	3.75	3.75		
	LANGUAGES: INDONESIAN							
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	25		1	2.15	2.15		
P50847	Display Book A4 40 Pockets Red Refillable	26		1	6.15	6.15		
	OPTIONAL BUT HIGHLY RECOMMENDED							
E20485	Digital Saling Silang 1 - 3.0 (Access Code)	27	DIGITAL ITEM	1	24.95	24.95		
	Please choose carefully before ordering this product as once purchased, this digital resource cannot be returned, refunded or exchanged if you change your mind.							

ADDITIONAL INFORMATION

Alternate brands may be used for all items except textbooks. Where specified, we ask that products are purchased/covered in the identified colour. Please label all items with your child's name.

GENERAL STATIONERY ITEMS

	All items below are to be replaced, as needed, throughout the sch	iool year.				
P55180	Book Covers A4 Pkt 5	28		1	7.50	7.50
P50597	Eraser Dust Free Black Large Faber-Castell	29		1	1.05	1.05
P55654	Glue Stick 40gm UHU Blue	30		1	3.35	3.35
P52495	Highlighters Textsurfer Staedtler Pkt 4	31		1	8.05	8.05
P51039	Lead Refills 0.7mm (HB) Tube 12	32		1	2.25	2.25
	(Only required if using a mechanical pencil)					
P50113	Markers Faber Project Wallet 12 Assorted	33		1	3.45	3.45
P55953	Notebook A4 250 Page 5 Subject Colourhide Assorted Colours	34		2	11.50	23.00
P52135	Pen Ballpoint Black 1.0mm Papermate Inkjoy	35		4	0.65	2.60
P50387	Pen Ballpoint Blue 1.0mm Papermate Inkjoy	36		4	0.65	2.60
P56096	Pen Ballpoint Cap Type Red Medium	37		2	0.35	0.70
P50208	Pencils-Coloured 12's Columbia	38		1	2.85	2.85
P56213	Pencil Case 340x170mm Name Large	39		1	3.40	3.40
P51525	Ruler 300mm with Finger Grip	40		1	1.40	1.40
P56240	Sharpener Pencil Barrel Single Hole (EL)	41		1	1.25	1.25
	Please select ONE of the following	9	<u>Choose One</u>			
P56223	Pencil Mechanical 0.7	42		1	2.80	2.80
	-OR-					
P50271	Pencil (HB) Goldfaber	43		4	0.65	2.60

PARENTS TO SUPPLY

Corded headphones with volume control (USB plug preferred, 3.5mm plug suitable. To be used for NAPLAN in Term 1, 2024) Hand sanitiser (Travel size. To be replenished, as needed, throughout the school year) Facial Tissues (Travel size. To be be replenished, as needed, throughout the school year) Parent Owned Device: A device that has at least 8GB of RAM, 256 GB of SSD and a 13 inch screen.

Please tick the items required in the box provided $~\downarrow~$							
Office Use	Description		ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
		Number of Boxes ticked:					
		Postage (Home delivery only)		\$0.00			
		ESTIMATED AMOUNT DUE (PRICES CORRECT AT 24/11/23)		\$	_		